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I- (5 points)

Q Correction Grade

1 x=12; y=8 15

let x be the number of pineapple bottles and y the number of orange bottles :
X+y=20
2-a x=12; y=8 2
3000x +2500y = 56000
12 pineapple bottles and 8 orange bottles .
the price of one pineapple bottle is : 3000 — 3000x£ — 2400 LL
100
2-b the price of one orange bottle is : 2500 LL 1.5
the price of one box is : 12x 2400 +8x 2500 = 48800 LL
11- (5 points)
Q Correction Grade
36 9
l-a | p(m 24 _3 0_5 PHAM)=—==_", P(H/ —=— 2
()8010 ()808( )040( )5614
1-b | P(M/H)= 14 = s 1.5
50 25
) ( ) 32 31 62 15
80 79 395

111- (10 points)

Q Correction Grade
A-1 | False because if X <0, then T(X) €] —0;0[ 1
Ao | Falsebecause on [0;1] fis strictly decreasing f(%) of (§j L
A-3 | True because for X <0 we have f'(X) >0 and for x >0 we have f'(x) <0 1
A-4 | True because f(0)=0and f'(0)=0 1

‘-2
Bl |f()=— 1
(x-1)°
B-2 y=Ff'(-2)(x+2)+f(-2) = —x+g 1
B-3 I|m [f(x) x+D]= I|m il_o similarly for x —»-o. 1
+oo X —
B'4 2 /i’
o 15
B-5 the line of equationy = - 2 mtersect the curve (c) in two distinct points or by calculation. 1.5
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